Playing @ X 0 A . ) ) . Ted Greene
order: 0 oot 2-to-1 Diatonic Stepwise Ascending 1985-05.02
Bass Motion with Delayed Entrance
As the Generator of the Harmony (Part 1)
Assignment:
1) Analyze each example and understand the reason for each chord's appearance and/or selection.
2) Play each example fluidly so you can really #ear each effect.
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Or play on the
top 4 strings.
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Barre full or near full
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Try this example without sustaining the G first, please.
Optional: Sustain the F after you've tried all the above.
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Also use
EA7 here.
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Then again with [finger| 2
gVery tough, but have patience
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Again very tough, but worth it.
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Then again with 2 and two middle voices tied at end.
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Also start in the 5th position.
S o) 5
SR SEH® b
T 4R srieil] §
¥ il -
y i Par s N
e o I é o et £
7 L 14 7 T
Also try
Dm/9
5 o
6 4
K £ 3 :l;—
lo[Tq] a1 gt |
) | o 4 %
— . 1




g1

2t i%ﬁ&'u e GENEATOR. o7 Hhe. HARMENY

ASSIGNMENT D MAYZE EAea B dup OSSN

THE AEASN FoR

\@Yu/‘f} ameuzx.ﬁm&ywm%%
Plany 1a ?vl T 2 a__ﬁﬁ . ﬁ 5Ex TR 70 :]]
X1t L[oL 5 ] 1801 ] X5 ST # R _ﬂ
o 5 T X __Ltd ¢ 1 1 %‘?—“ ‘j: ‘
7t w1y 0
T80 SHXH A 4 X 3;; . 3qu X a;];ﬁj L FEI
i “H Etﬂ PHHP T e T f:
1) qC - '
@:lv{  Tu | 10 ) X 18 (T&] ] Vg ‘
Nt e e
AL qf-h 1 | PASEE M T o
71, 2 H7 H of] 33211‘% g 3:_{ [ 1, SEX . !
?-r—s A - “: 1 : &Z 1] j-:
o T nom bl
P ang)ez i gy < il o ;
S - e BH grerrH T T get
2T ”:ﬁn LT VRN gy ] “io&I::f N 10 fﬂf\bf?:' 3
@M{; B 1 1t 2L i) X K|
A 4 X ] 70
i ﬂtﬂ :F L }If: 1-5""" P:F' li N
gl et i il |
2 i 33 B iaal]aninn %z-mﬁ’?l,d?b o “ﬂleSI 7 5%}:%
T - & é - —
=% EESRAgE! _
gl B B S ansa
e | AT jansslsanke
\ fF} ) NL . INRgN NEERRERS 10
5@ 50 5:{ X [ B - N "é?i? - _i
it e S
o1 b A P
HH A T T TRFRRE) KR SR 3] 9P
il B B e e e R G T e
g infiez ) Ui 15 !
it @%llﬁ# ittt ) iﬂ
; 1|0l T8LL] 74 x i £ I ([ToT))




